College Algebra — Joysheet 10

Name:

MAT 140, Fall 2015 — D. Ivansié

1. (6pts) The graph of a function f is
given.
a) Is this function one-to-one? Justify.

Covers: 5.1-5.5

Show all your work!

b) If the function is one-to-one, find the B A |

graph of f~!, labeling the relevant points 3

a) Lﬂ('j_' [J; PGTF"-F ’h”( lxt?hw f"l“"{_ j.+ s -5::
r-ﬁ‘

L) e Gy " (50

1
J_ 9%

2. (12pts) Let f(z) = 3"”;
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3. (8pts) Ewvaluate without using the calculator:
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4. (4pts) Use your calculator to find
logg; 0.82 with accuracy 6 decimal places.
Show how you obtained yvour number.
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Find the formula for f~*. Find the domain and range of f.
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5. (5pts) If you invest $4,000 in an account bearing 4.11%, compounded monthly, how
much is in the account in 31 months?
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6. (3pts) Find the domain of f(z) = log,(5 — Tz).
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7. (Tpts) The population of Nashville (in thousands) may be described by the function
P(t) = 569(1.00975)%, where ¢t is the number of years since 2000.

a) Find the estimated populations for 2010 and the predicted population for 2018.

b) According to the model, when will the population of Nashville reach 700 thousand?
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